#5598 RCHEBERES HRE
1 i [ 75 K SB 139,0 = 693
2 Ear NN AB 228,0 = 1030
3 /NS BETE ED 471,0 = 1141
4 TEFER ED 411,5 = 1142
5 ZM=# | PD | 8065
6 BRES PD 788,0
7 & B | PD
9 =EMNA MD 801,5
10 AGRUE MD 911,5
11 B & MD
12 FE MD 883,5
13 EE = MD 928,5 = 2613
14 SRR BUSE MD 919,5
15 | =2fA | MD | 8625
16 KIBANE MD 890,0
17 | WEE— | MD
18 EHB— MD 932,5
19 BRELEES SM
20 EARRE SM 430,0
21 FHEFRF SM 976,0
22 FE & SM 934,5
23 EE = SM 949,5
24 /NS BETE SM
25 KiEE— SM 983,5
26 BRELEES SM 993,0 = 1268
27 e IR SM 983,0
28 EE = SM 969,0
29 FE & SM 977,0
30 /NS BETE SM 997,0 = 1269
31 FHEFRF SM 974,5
32 HmE SM 943,5
33 | &M % | SM | 9785
34 EARRE SM 964,0
35 BH X SM 995,0 = 1270
36 fit] A HE 7 SM 1027,5 = 1271
37 | WEE— | SM | 9415
38 FHEFRF SM 968,5




